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The number of vertebrae in a vertebral column, or the number of joints in a digit (such as a finger)

are all strongly influenced by genes.
A. Dall

B. Diploid

C. Hox

D. Muon

What are the monomers of proteins?
A. amino acids

B. nucleotides
C. peptides
D. hormones

Behavior that reduces an individual’s fitness while increasing the fitness of another individual.
A. alternative

B. altruism
C. cooperation
D. inhibitor

The period in the cell cycle when the cell is not dividing. During this phase, cellular metabolic
activity is high, chromosomes and organelles are duplicated, and cell size may increase.
A. anaphase

B. interphase
C. mitotic phase
D. telophase

Which image is the Thymine chemical structure?
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6. What is the correct step for nucleotide excision repair?

A
B.
C.
D.

a. A nuclease enzyme cuts the damaged DNA stand at two points and the damaged section is
removed.

b. A thymine dimer distorts the DNA molecule.

c. Repair synthesis by a DNA polymerse fills in the missing nucleotides.

d. DNA ligase seals the free end of the new DNA to the old DNA, making the strand complete.

a=2b=2>c=2d
b=>a=2>c=2>d
a=>c=2>b=2d
c>a=2>b=2d

7. Which site does it contain the mitochondrias?

oo w>

acrosome
centrioles
midpiece
tail

Acrosoime
o

8. Portions of the frontal and temporal lobes, including Broca’s area and Wernicke’s area, are essential

for

oo w>

emotions

generating and understanding language
long-term memory

short-term memory
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9. Which type is the motor neuron by functional classification?
Dendrites
A '
B. Dendrite
Cell body
/Cellbody
Axon
| |
Axon terminal Axon
C.
Astrocyte
D.
' Mitrogtia
Oligodendrocyte
Fpendymal cells

10. Which is the fewest type of white blood cells ?

A.

B.
C.
D

basophils

eosinophils
monocytes
neutrophils
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Ecological footprint (10 %)
Polymerase Chain Reaction (PCR) (10 %)
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